
Funduszu  

TEST 2-03 
 

1.  , to: 

a)  
b)  
c)  
d)  

 
2.  : 

a)  
b)  
c)  
d) mniejsze  

 
3. 

: 
a)  
b)  
c)  
d)  

 
4.   

a)  

b)  

c)  

d)  
 
5.  1, R2 

1=U2 2 
rezystor R3, o takiej samej rezystancji jak R2. Ile wynosi U1 i U2: 

a) U1=6V a U2=3V 
b) U1=3V a U2=6V 
c) U1=4V a U2=5V 
d) U1=5V a U2=4V 

 
6.  W ogniwach : 

a)  
b) indukcji 
c)  
d)  

 

7.   
a)  
b)  
c) suma wszystki  
d)  
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8.  1 : 

a) 3V 
b) 6V 
c) 12V 
d) 9V 

 
 
 
9.  : 

a)  
b)  
c)  
d)  

 
10.   

a)  
b)  
c)  
d)  

 
11.  : 

a)  
b)  
c)  
d)  

 
12.  2 , : I1=3A, 

I3=5A, I4=4A 
a) 0A 
b) 12A 
c) 2A 
d) 7A 

 
13.  : 

a) wolt [V] 
b) wat [W] 
c) watogodzina [Wh] 
d) amperogodzina [Ah] 

 
14. Pierwsze prawo Kirchhoffa dotyczy: 

a)  
b)  
c)  
d)  
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15.  1 i R2 : 
a) R1 2  
b) R1 2  
c) R1 2  
d) R1 2  

 

16.  Konduktancja to: 
a)  
b)  
c)  
d)  

 
  


